The Formula of hypotenance distance is

(A)  Root of in sum of the Square of two sides

(B)  Square root of two sides
(C)  Root of one side

(D)  None of these

sragSlen FMyb sear(HLgé5s el

A) QMuUss uTESSH 6T eUTESHELPELD
B @ usshsaier aurésepaLd
)  @musssSaT auiiss ppeld

D) @ germsioea

The square of Cross staff is

A 2m

(C) 10cm

CrirCament &L_enL_udlen ojearey
A) 2.8 L

(C) 10Qs.8.

The First main process in Land survey is
(A)  H Process

(C) A Process

Slgmo Bleoyerailied (pHed Geweapenm

4) H Gsweapenm

©€) A Qeswewenn

The formation of Main circuit is

(A) 100 Sq.km to 200 Sq.km

(C) 250 Sq.km to 375 Sq.km

QUHEHHHM LD SLOLILISHSTET GUFerT(LPEnD
(A) 100 &85 wpge 200 #8185 cueniy

(C) 250 &.85 s 375 .88 cueniy

(B)
D)

(B)
D)

(B)
D)

(B)
D)

(B)

D)

(B)
D)

4 feet,

3m

4 oy
KT,

E Process

G Process

E Qewdapenm
G Qewepenm

200 Sq.km to 250 Sq.km
400 Sq.km to 450 Sq.km

200 #. 488 1pger 250 .45 euenyy
400 &. 88 pger 450 .85 euenyy

094/DM/18
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5. The formation of Khandam in Wet Land is

(A) 40 Hec to 60 Hec

(B) 60 Hec to 80 Hec

(C) 55 Hecto 70 Hec

(D) 25 Hec to 40 Hec

BRI HlasH 0 SGITLLD @ LOLILISHESTET aUFET(LanD
A) 40 Cans s 60 Cans ey

(B) 60 Gans s 80 Clans eueny

(C)  55Qans wpge 70 Cans cuany

(D) 25 Cans s 40 Cans cueny

6. What are the dimension of ‘A’ class survey stone?
(A) 40cm x 20 cm x 20 cm
B) 90cm x 22.5 cm x 22.5 cm
(C) 30cmx15cm x 15 cm
(D) 50cm x25cm x 20 cm
‘A’ flarmen Hlev feTEneu Haedl6m eme]
(A)  400Qes.8x20 @815 x 20 Qg..8
B) 900Qe&.15x2250Qg.8 x22.5Qs.15
(C) 30Q&.185x15@s.15 x 15 Qg.18

(D) 50 0.8 x2508.18 x 20 Qg..8

7. What is the simple interest for Rs. 1,000 at the rate of 10% for Two years?
(A) Rs. 250 (B) Rs. 300
(C) Rs.325 (D) Rs. 200

eh. 1,0008@ auLgHi@ 10% el g aigsgdled 2 cumLsdn @ e Slenl_&@h seafleul Ly ereren?
A)  em. 250 (B) . 300
(C)  em. 325 (D) em. 200

094/DM/18 4



10.

11.

Sasi purchased a house for Rs. 27,75, 000/- and sold it Rs. 47,00,000/- to make a profit what

1s the profit amount
(A)  Rs. 20,00,000 (B) Rs. 19,25,000
(C) Rs. 18,00,000 (D) Rs. 30,00,000

&8 eramueur . 27,75,000-8@ o0 eetenm eummdl p. 47,00,000-6@ eSHmmT eremmed eTLILD

GTeUGUETEY?
A)  es. 20,00,000 B) . 19,25,000
(C) . 18,00,000 (D)  em. 30,00,000

What is the formula Area of Square?

@) a’ (B) 1b
(C) % bh (D) none
g8 r5Ser LpliLaTe) ol

@) a’ (B) 1b
(C) % bh (D) none

What is the Square root of 25007

@A) 30 (B) 40
€ 50 D) 25
2500-60T eLPEOGUTEHSLD GTEITET?

@) 30 (B) 40
(© 50 D) 25

What is the answer of 1.34 x 9.8?

(A)  12.120 (B) 13.132
(C) 1112 (D) 20.08
1.34 x 9.8 g0 cranremflen GlLI(HESHD aflenL_wimeng)?

A)  12.120 (B) 13.132
(C) 11.12 (D) 20.08

5 094/DM/18
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12.  Area or Triangle Base 80 m and height is 60 m
(A) 1500 Sqm (B) 2800 Sqm
(C) 2400 Sgqm (D) 3000 Sqm

Sy ggerd 80 1S, Qemigsg b 60 5, Asrerr CemCsment (psCamaumgdlen LipLi

(A) 1500 &.8 (B) 2800 5.5
(C) 2400 &.8 (D) 3000 &..8
13. 4 Meters and below in width are measured as —————— roads, Cart track and channel
poramboke.
(A) Khandam (B) Survey No
(C)  Minor circuit (D) Subdivision

FMENED, GUENTIGLILITENS LOHMID eUTISSHTER Y dHlwenel 4 S DD GHMDEUTET H&HDSS L 2 arerCLmg)
9,5 DeT&HSLILI(HILD.
(A)  serLLd B)  yeo eremr

©  Qupeshn D) = 8y

14. What kind of Notice to be published after completion of Survey under TamilNadu Survey

and Boundary Act?
(A)  Section 9(1) (B) Section 5
(C)  Section 12 (D) Section 13

ymngdler  Hloerenes  (pighs Gar  sWOIRHETH  FHloDeTame  OHMID T  FLLD  ePELD

Qeuatlud_LiLhb Hleilsams erg)?
A) Qosegen 9(1) (B) GOssagern 5
(©) Qosagen 12 D) Ogsager 13

094/DM/18 6



15.

16.

17.

What is the notice of the section of Survey and Boundaries Act, when survey stones were

destroyed by Ryot
(A)  Section 12 (B) Section 5
(C)  Section 15(1) (D) Section 9(2)

Ble jeTeneud SHEMmeT TUSHIHET ANEGD UL ssdle dymo Hlieurs Sigielrred Hlevoieranel eTeane)
gl L 6Thg Casayen S1p Pleildans QamhissiLmHim
A)  Qosagen 12 B) GOgsagern 5

(C)  Gséager 15(1) (D) Qséayar 9(2)

What type of register for Patta Transfer is maintained by VAO in Taluk maintanance work?
(A)  Register 6(1) (B) Register 3
(C) Register 8 (D) Register 7

eaul L ugmofliy ueefludé, Sgmo Hlieurs i@iaiormed Lde] wrHHL CsT_Turs eswmer LB

uSlCou® ety
@A)  udCeau@® 6(1) B) udHCeup 3
C)  udCau(® 8 D) uvdHCau@® 7

Original check of maintenable stones in a village by Firka surveyor is
A  15% B) 20%
©) 10% (D) 35%

Q@ Srmogdad o drer shsaildr g0 Corgaeanuie oréseamen &g,@ﬁg,Lb GOIGUL L AETEUTTE Senflband

Qe pg)?
A)  15% B) 20%
©) 10% D) 35%

7 094/DM/18
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18.  What kind of Register is maintained by VAO for stones?
(A) No. 3 Register
(B)  Stone stock register
(C)  Chitta
D) ‘A’ Register
Sy Fliraurs SigiauerTe, SHFTosdaietar shaeréstar abs LHGCaE mswurariLEns
@A)  erawr 3 uHCGou(n
B) s @iy uHCeul
©) Sflonm

D) ‘= udGeu

19. Register No.4 is maintained in Taluk office is
(A)  Relinguish Register
(B)  Patta Transfer Register
(C) Darkhash Register
(D)  Change of classification Register
Ul L S@ieuassdled enswimeriLihib eranr. 4 erarliLihib uHGeuh erarLig
@A) sl uHCa(
B)  ulimwrmsd uHGau®
©)  guueLiyudCau®

D)  srwrHpw LEGCaE

20. What is the Register maintained in Taluk office for New sub-division?
(A) 7 Register (B) 8A Register
(C) 4 Register (D) 6 Register

Ul L Sj@leissdle LSl o L i9fesEnssns engwmerliLihib udGeu(h
A)  T7-b eramr LHGou(h (B) 8A ufCeu(

(C)  4-1b ereir LFCau(h (D)  6-b eranr LHCou(h
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21.

22.

23.

Mention what is the register maintained in Taluk office for Survey stones
(A) C.S.M A & B Register

(B) Fareland Register

(C) Adangal Register

(D)  Detail Register

Il L s@iceuvssle Hle Saramaisspaaer Lirmofés engwmeriui(Bibd udGeu
A) C.S.M. A& B uglCau

B) s uHCad

€)  eiLmsd LG

(D)  eflers@sar uHGeu(h

What is the First process during temporary adjustment of Thodolite
(A)  Equalisation

(B)  Location work

(C) Centering

(D)  Subdivision work

FHCwm_apavl_ Liewtludlen Curg) evswimarliLBLD (pSeHlane 6rg)?

A)  eurleu soaTLHSSO

B) QLREsTanb L

©)  @wLLUGEsD

D) o9 fey Lienf

The symbol of village Trijunction is

(A)  Triangle (B) Round

(C) Square (D) Rectangular
Symo Ap&spBuae BLILELD S66 2 6TaT el ILimeri

@A)  psCameanid B) eulLid

(C) ez (D) GQgeueusbd

094/DM/18
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24. What is the dimension of chain survey stone in Town survey?
(A)  90cm x 22.5 cm x 22.5 cm
B) 60cmx10cm x 10 cm
(C) 45cm x 20 cm x 20 cm
(D) 30cmx15cm x 15 cm
BT SeTaneuudled BLLiL(Hb Ggufler rCeu seradlen oiaTeHeT 678 ?
(A)  90Q&.8x225Qs.8x%x22.5 Q8.5
(B) 600s.8x100s.85x10Qg..8
(C)  45Q&.8x 20 Qs.18 x 20 Qg..8

D) 30Q&.185x15Qs.18 x 15 Qg.18

25. Who is the Authority to put signature in copy application of FMB in Taluk office?
(A) Head Quarters Deputy Tahsildar
(B) Land Record Draughtsman
(C)  Deputy Inspector of Survey
(D)  Senior Draughtsman
Ul L S@ialssdled Qupli@®b Leoliur Baedled ensewmindl(BHib <jgielem
Q)  soo®LIA_sg s@ara L Sw
B) Bl syeuemt cuereumert
(C)  eulL gienewt <y icumeri

D)  waiflene euenreumeri

26.  What is the Section of Revenue Standing Order, at time of Sub division in Joint patta
(A) RSO 2 (B) RSO 21
(C) RSO 12 (D) RSO 31
gal QUILLLTaflé 21 9fay Qeiiaushsmear ai(haimi Hlana 2pa et eraim
(A) RSO2 (B) RSO 21
(C) RSO 12 (D) RSO 31

094/DM/18 10



217.

28.

29.

30.

31.

Who is the responsible person for scrutiny of sub division —————— in Taulk office?

(A)  Deputy Inspector of Survey (B) Field Assistant

(C) Land Record Draughtsman (D) Senior Draughtsman
QUL L DQIeIvsgSe) FaFmile]ll Lantls@, Clummliimene T wim?

A)  eulL giemewt <y ieumer B) yeo osefwmert

(C)  Hle yeuamT euanyeuTeTT D)  waBlere cuengeumarit

How many errors in Maintanance survey work?

A 4 B) 6
€ 8 D) 3
ugmofligl uesflufled erHLIBID SjeTeneull AenLp&ET 6TéSeamen?
Aa) 4 B) 6
€ 8 D) 3

Simplify by log 14348.907

A 24.3 (B) 26.8
©) 122 (D) 15.6
DL &0 PLPEOLD S(h&EG&% 14348.907

A 243 (B) 26.8
©) 122 (D) 15.6

The meaning of Abandon stone is

(A) ‘A’ stone (B) To be treated as missing
(C) ‘B Stone (D) Chain Survey stone
sl LI L Ble SjeTeneud ST eTarLig)

A) ‘A se B)  pLuwpyuTSME

C) B s D)  Hloserane spaHeT

The symbol is marked in Poramboke land stone is

(A ‘S’Mark (B) + Mark
©) A Mark (D) None of these
YmobCurs@ Hleomisefler BLLILIHLD shaafler e wmerld
(A) S ©enL_wmerbd B) + e wmrerd
© A SjenL_wimerid D) Qe ergiajdldema
11 094/DM/18
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32. In which section, the notice to be given to Ryots for missing stone?

(A)  9(1) Notice (B) 4 Notice

(C)  15(2) Notice (D) 10(1) Notice

STemonH CLITET SH&@ER&ETET eThs LGMey GHILILITMERT TISSI&ESEhsE alphislLIHEDg
@A)  9(Q1) eMuuTenamr B) 4 @dluremenr

(C)  15(2) eHluureme (D) 10(1) @diumeest

33. Kalam field is a type of

(A)  Major circuit (B) Wet land
(C) Natham (D) Poramboke
&b Flevid eTarLig)
@A) Quilu sHm B)  menGlaul Hleowd
©) s D) upbGuréE

34. Tahsildar will also act as ——————— in Taluk office.
(A) Head Quarters Deputy Tahsildar (B) Taluk Supply Officer
(C)  Executive Magistrate (D) Revenue Inspector
UL igiela@sdled eul L m Huiim ———————— eremm Blepaudeid GgweuBieum.
Q) soeowull g gemeaeul Lml fuim (B) el cuprise igieuei
(C)  Hireurs pHeum D)  aumeurs yuieumeni

35. The process of land acquisition is carried out by
(A) AD-Survey (B) Tahsildar (L.A)
(C)  Deputy Inspector of Survey (D) Firka Surveyor
BlaGw®iy uamflenw CohEsmeT@pD SigielaT
A) 260 QusEHT (Hlo eTanal) B) safl cul L &flwrm (HlooGw@LiLy)
C) eulLg giament <y lieumari D) GmeulL oemeurm

36. What is the area of cubic meter of a brick with length 24 c¢m, breath 12 cm and height 6 cm?

(A) 1,500 cm?® B) 1,200 cm®

(©) 1,728 cm? D) 1,600 cm?

Berb 24 Q&.18. Sseid 12 Qg.15 whmib 6 G1F.L5 2 wippeTer e CFmIHL60 6T HET S{6T6| GTeTET
A) 1,500 5.Q8.18° (B) 1,200 5.Qg.8°

(C) 1,728 5.Qs.85° D) 1,600 5.0s.15°

094/DM/18 12



37.

38.

39.

40.

Preparation of Fair village and circuit map for Traverse work is

(A) A Work (B) E Work

(C) G Work (D) C Work

Slgmob whmib 2 5C55 Carant eame sHemar Sarflg (PenmLiLll eUEFUD Liew
A) A uvanf (B) E uanf

C) G uamfl (D) C uenf

How many liter of milk in 30 cm Diameter round vessel with 25 cm height of milk?

(A) 18 Ltr (B) 17.67 Ltr

(C) 20 Ltr (D) 12 Ltr

30 Q.8 ellLqpeer it 2 (Hewar culgeu LTSHrsdled 25 Q.15 2 wysHbE ured HlybGujererg erefle
Limedlesr )L <j6me]

(A) 18l (B) 17.67 &

©) 20e D) 12

Fasali year means — it starts from ———— and end with

(A)  January 1 — December 31 (B) dJuly 1—dJune 30

(C)  April 1 —March 30 (D) June 1 — December 31
L6 pam(h eraLig) pse P A G-

Q)  sereufl 1 - gabur 3l B) x9me 1 - 0nar 30

(C)  atigéd 1 — wmié 30 (D) 296 1 — gebLi 31

Who is responsible person of saleable village map accounts in Taulk office

(A)  Deputy Inspector of Survey

(B)  Firka Surveyor

(C) Taluk Sub Inspector of Survey

(D) Senior draughtsman

ULl L S@ieussEled 2 aTer SFmols Ll Bis@h&smen edlhuamen TSHs6r sammdbans andm@hLic T
A)  eulL gienewt <y ieumeri

B)  GnelL ogein

(©) el gty Weumer

D)  waiflene euenreumeri

13 094/DM/18
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41.

42.

43.

44.

Diameter of a Circular pond is 6 m, path around the circular pond is 4 m. How much is area
of path

(A) 634 sqm (B) 700 sqm

(C) 820 sqm (D) 854.86 sqm

@ aulLorar @Genrgdlen el L b 64 S siwgd anmdl CQeuafliypwrs 4 8 sswsdd utmg 2 drerg
umrengudlen LIFLiLIGTeUTES)

A) 634818 (B) 700 .8

(C) 820 .8 (D) 854.86 5.8

Side of square field is 58 m, path around that field is 4.5 m. How much area of that path?

(A) 1050 sqm (B) 1100 sqm

(C) 1125 sgm (D) 1210 sqm

@ sgTeuwader LGsD 58 N SmssanM 4.5 sssdle CeellCu urems Cgodlpg LTensuden
UITLILIGTE 6T6IT60r?

(A) 1050 &.8 (B) 1100 &.8

(C) 112588 (D) 1210s.8

Simplify (by log) 68.248

A)  8.261 (B) 4.810
(C) 17.560 (D) 3.110
&G (by log) 68.248

A)  8.261 (B) 4.810
(C) 17.560 (D) 3.110

What is the representation fraction scale of map is 1” = 1 mile?

A)  1/3260 (B) 1/63360

(C)  1/43420 (D) 1/45220

17 =1 evwoéd eraitn Sjamefled auanmwiliul L euanruL_gdlen g Hldsgie 1enenid ereme?
A)  1/3260 (B) 1/63360

(C)  1/43420 (D) 1/45220

094/DM/18 14



45.

46.

47.

48.

49.

A ABC sides are A —79.4 m, B—105.8 m, C — 97 m what is area of AABC?

(A) 3681.40 sqm (B) 4212 sqm

(C) 1124.12 sqm (D) 1080 sqm

A ABC-érn ussmigar A —79.4 m, B—105.8 m, C — 97 m eraflev A ABC-aw LipliLy ereven?
(A) 3681.40 5.8 (B) 4212 8.8

(C) 1124.12 5.8 (D) 1080 5.8

Sin Means

(A)  Opposite side / Hypoteneous (B) Base/ Opposite

(C)  Opposite side / Base (D) None of these

enger (sin) eremivi(Heug

A)  rdiusshd [ sranrd B)  <igliugsbd [ ardriussn
(C)  eafHriussb [ Sigliussd D) Geundle ergiajblldvene
(Tangent) Tan means

(A) SinA/CosA B) CosA/SinA

(C)  1/CosA (D) 1/SinA

L (Lmemblenl) eremiiLi(heug)

(A) SinA/CosA B) CosA/SinA

(C)  1/CosA (D) 1/SinA

How many types of Solutions of Triangles?

A) 6 (B)

€ 5 D)

W&ECETETSS 6 ST6&ET GTESEMET GUEMSLILI(HILD?

A) 6 (B)

© 5 D)

How many types of lands in Railway?

A 5 (B)

© 7 D)

Tl Cou Hlevmiger eTdgHener euandiL(HLD?

A 5 (B)

© 7 D)

15

094/DM/18
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50. How is the boundary of River is fixed at village boundary?
(A)  One side
(B)  Entire side
(C) Middle
(D) None of these
Slgmo eréeneoudlgyerer <y,m e eredened ereueumm Bliramrudlssiiu(HSms
A)  @Crussbd
B)  2mp@agd
(C) mBEeLWD
D) Qeuplé ergiLslevena

51. How many blocks are formed during Town survey work?
@ 3 ®B) 6
© 2 D) 5
B&1T Bl jerencuuile) eTEZma euans 6T @HEeT e n&EIL(HSNG)?
A 3 B) 6
© 2 D) 5

52. Total Average price of 5 pens is Rs. 75. What is the total price of 5 pens?

A 275 (B) 280
(©) 375 (D) 325
5 Cuarmsaaflen grmafl ellane ap. 75 erafled, 5 Cuammgsailen Qwrss ellene eremen?
(A) 275 (B) 280
€ 375 (D) 325

53.  What is area of a circle with Diameter of 14 cm?
(A) 204 sqm (B) 154 sqm
(C) 176 sqm (D) 302 sqm
14 Q.18 & AL om&s Cararr eul L SSlem LFLILeTe &Tehms
(A) 204 5.05.8 (B) 154 s.Qs5.5
(C) 176 5.Q8..85 (D) 302 s.0s.18
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54.

55.

56.

57.

G.V.M denote as in Town survey register

(A) Lands owned by Government

(B) Lands used with Municipality

(C) Lands alimentation infavour at the Municipality
(D) Lands other than Municipality

B&T Seranel UHGauliged G.V.M ereLigy

Q)  SirssE Qempgworearg G

B)  wafurdlyse Qempsworarg GVM

©C) wafurdlyéE GSsmssE@ dlliulLg GAM

D)  wafurdli g 569755 @sT Leomisar GA

The Survey will be conducted for missing stones and alternation of boundaries is less than
50% is

(A) Cadastral Survey (B) Supplemental Survey

(C)  Resurvey (D) Initial Survey

50%&@h  G@meurar &h&eT WOHmb e Blaesdar wrmb ulssdld Cumsmareriumib  Hle
S|OTECUILITETE)

Q)  sLmevl e #TGa6u B)  sealena Hlo Sjerena

C) b Hle Serena D)  wse Hle Sjeranel

What type of the formation to Cart Tract and Railway line?

(A) Revenue survey field (B) Long narrow field

(C) Road survey (D) None of these

cuenTiq LILiTens HmID TulebGeu enavendE@ ClewuliLI(HLD SjeTenel eTemem auensLIL(Hib?
A)  eumeumi Hle SjeTanel Ljeoid B) Seawr @mdw Lebd

(C)  smeme LYeoid D) Qe eagioame

In what direction we must face FMB during survey work?

(A)  South (B) East
(C)  West (D) North
Ble ojareneuls Lianfludlen CLmgl BID Ll 5§55 crddlagamut Crmésl ensuwimerGeeamT(hib?
A)  OCspE B)  dpss
C€) Cope D) aLs&g
17 094/DM/18
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58. In what direction the Subdivision numbers to be given at the time of in FMB preparation
(A)  From North West to South East
(B)  From South to West
(C)  From West to East
(D)  From North to South
HooluL b swrils@n Curgl <idled @ in@ib o L 19fey eramser ersdlansudledmhg) eupmislitihdng?
Q) e Copdlemnbg Cgerspss
B)  Cspdlfpbs Cooe
(C)  Cupdldmbg SHpss
D)  aLsdlmbs Csn@E

59. Measuring the distance in Right Angle AB = 76 m BC = 85 m find out distance of

hypotenance

A) 86m (B) 98m

(C) 114m (D) 90m

ABC eranp QemCsrent (psGaramgder AB = 76 5 BC = 85 18, erafle sranrgdlen gyomeg
(A) 8618 (B) 9818

(C) 1148 (D) 908

60. AB distance 210 m, Base DC =285 m, AD = 105 m find the distance of BC in Trapezoid

(A)  225m (B) 108 m
(€) 128m (D) 190 m
g rCumegiger Sigliugsn DC = 285 5, AB — 210 5, AD — 105 15, BC-éx gnyoneng
(A) 22518 (B) 1088
(C) 12848 (D) 1908

61. Topographical survey is conducted by

(A) Tamil Nadu State (B) Survey of India
(C)  District Survey (D) None of these
el Blev jemeneuwmeng ————————6 B (PeDUILIHSSILL L g).

@) wrfle fasmea g B) @pfhu fasirea:
(C)  wreulL Hlo Sjerenal D) @de ggidlvame
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62.

63.

64.

Formation of a survey field related Roads, Railway and channel the width is than

A bm (B) 8 m and above

(C) 10 m and above D) 4m

grena, TullebGou WHMID STOEMUSZEHSSTEN LSl LD HeDDES DFE DH&HELD
@ m&5 Cauar(hib.

A) 516 B) 8 @znECLd

(C) 10 S5 =isHECwe D) 4.8

Index map to be prepared during

(A) UDR survey

(B) Natham survey

(C)  Patta — Passbook scheme

(D) Town survey

audlsm_(Hb euenyULLb swWmil&sliLheugl

A)  Hle2mLawn Cobur (gL eranaiuie
B)  mssD SleTameiudicy

© UL umevs Sl jemeneuudled

D)  par erencuuiled

Who is the responsible to incorporate changes of new details in FMB in Taluk office?

(A) Tahsildar

(B)  Deputy Tahsildar

(C)  Senior Draughtsman

(D)  Deputy Inspector of Survey

Gl oot

al L @eiassdd LFw soalleurs @oluihsmer yoliuLhisafld Cop@srerer pLeig&ams oT(H&@L0h

SHETID ————— 2 dmang.
Q)  elomifur

B)  geew eul L Hwir
©€)  waiflene cuenyeumeTi

D)  eulLgewent <y, uieumanrit

19 094/DM/18
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65.

66.

67.

Who is responsible for maintanable Survey stones in patta land

4) VAO (B) Ryot

(C) Tahsildar (D) Revenue Inspector
L Blewgdled 2 erer LipmofliiLy Bleoiereney &H&EhdE GUmmiLLITee T

Q)  Armoblieurs Sigiele B) ulinsmyr

©)  euliLm &Awumr D)  eumeums <y wieumeri

What is the limitation of equalization of bends in field to the Ryot as well as Government?
(A) 20 links in Wet 20 links in Dry

(B) 15 links in Wet 30 links in Dry

(C) 10 links in Wet 20 links in Dry

(D) 18 links in Wet 35 links in Dry

UL whmibd YobGursE Hlomisafld euamerea|saich FLOGTLI(HSSN)ISSTET 66 &HETTETS)

A) 20 flmsev perGas, 20 elmigen Lenblaw

(B) 15 dmuda pan@as, 30 liigen L@t

(€) 10 duda pan@as, 20 lrige Len@sis

(D) 18 e pan@eil, 35 alkiden LerGsi

EDM means

(A)  Electric Direct Machine

(B)  Electronic Duplicate Machine

(C)  Electro Magnetic Distance Measuring
(D)  Electric Distance Machine

©).1q..6TLD GTETLIZ)

A) e Caaum s(mel

B)  WBlemeray wrdfl Hmed

(C) Vleanarps Ggraneey Sareih &med

D)  WBler Azrenevay s(medl
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68.

69.

70.

71.

The Minor punishment of Censure, fine and with holding increment on promotion are listed
as per

(A)  Dastrict office manual

(B) Tamilnadu Civil Services (Discipline and Appeal) Rules

(C) TN RTI Act

(D) All above

Q6@ T, SUFTSLD OHMID LS 2 wireild sardlw 2 wiranel Hlimss eneusse dluiemel ————— Liig
MglsslLBhHmg.

A) el perL(panm esCw

B)  sOLBETE GlgamLUGUTHET (PBIE BLalgdams (1) Cueapannui® &L Lb

(C)  sBPBTH ss6ue HHlLD 2 flend s L 1b

(D) CuCeo serL oemersgb

All Patta Transfer petitions are submitted through

(A) Revenue Inspector (B) Firka surveyor

(C)  Senior Draughtsman (D) E-Service Centre
UL LT TS CSTLTLTET eyI&ser —————— epevld Fmii9&s Ceuemr(Hib.
A)  eumeumi <y ieumeri B) ©GnelL et
©) @yl auenreumeri D) ©-Gseneu enwwid

Two angles of Triangle are 40° and 60° Find out third angle?

Aa)  70° (B) 80°
(C) 65° (D) 85°
@b (P&CamamsHlen @ramBHb Carammbser 40° wHmiD 60° erafld eparmmeug Cament eme,?
A 70° (B) 80°
(€) 65° (D) 85°

Who is responsible for Full field Patta transfer in maintenance work?

(A) Tahsildar (B) Zonal Deputy Tahsildar
(C) Revenue Inspector (D) VAO
ugmofliy uenfludled appts Leo LI LT mmIFeIs@E ClummiliLiTeTerT
A eulLmi&Awm B) wewrLe gienemreulLmSwir
(C)  eumeumi <y icumeri (D)  Sgmo flieurs Si@ieuei
21 094/DM/18
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72. 2 Square mile is equal to

(A) 60 Acres (B) 518 Hec
(C) 600 Hec (D) 80 Acres
2 &ZITENLDE) 6TEITLIG)

A) 60 gsamr (B) 518 Gams
(C) 600 Qams (D) 80 g&sm

73. What is the symbol of the center of 20 m chain (10 m)
(A)  Brass index with two prongs
(B)  Silver index with single prongs
(C)  The brass handle
(D)  None of these
20 8 Qeulefer p(Hedled (10L5) 2 emer jenL_wimemid 6rg)?
A) Qmlssamarwimed e seuTsEEHTD
B) Qeueraflwme <y e seursCaHmed
(C)  Yszmer enaildig
D) @ ggisloena

74. Formula of formation of the Triangulation in survey field
(A)  No. of Sides — 2 = No. of Triangle
(B)  No. of Sides — 4 = No. of Triangle
(C)  No. of Sides — 5 = No. of Triangle
(D) None of these
o sjareneludien Cumg) e SepliLgled CemGaranT p&EHTamTDd 2 (HeuTs@Gasnamer adls)
Q) ussnsaier cramanisans — 2 = GemCsment WPECHTERTLD
B) ussnsaien cramantlGans — 4 = QemCsameant LP&EGHTERTLD
(C) ussnseaier cramanilGans — 5 = GemCsment WECHTERTLD

D)  Qeupdle ergiasleoena

75.  Irrigation sources are classified into ——————— Classess during Settlement Scheme.
4) 6 B 2
(©) 10 D) 5
Blovaufl S ger Curg BriiLimgear < Myb ———————— QUSHETTE uanSILHSSLILIL L G|
A) 6 B) 2
(C) 10 D) 5
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76.

717.

78.

Survey field is formed as ———— Acres in wet, —————— acres in dry during Cadastral

Survey.

(A) 2 acresin Wet 5 acres in Dry

(B) 4 acres in Wet 6 acres in Dry

(C) 1 acresin Wet 3 acres in Dry

(D) 5 acresin Wet 10 acres in Dry

aumemil Fle ojerenel Lanfluder Curg pembaliuier ——————— g&silaud Lemblgwiude
FEHSTQID L|EBIGET SenLo&SLILI(HILD.

A) 2 gssr patals 5 gaaT Yearblaw

B) 4 gssr paCels 6 gasT Hearblaw

(C)  1gsdsipearbal 3 g&si Ljembau

(D) 5 g&sr parCels 10 géam Lemblauw

In Street Survey —————— are surveyed.

(A)  All fields

(B)  Street and roads

(C)  Street and all fields

(D)  None of these

Qg Slerenaiuien CLmg ——————— LjamISET L (HLD efl&sLiLHILD.
A)  eTdem LjemisEhLD

B)  Qsmaywb, FTEnesEHLD

(C)  Qsmayb, 6TeredIT LjeOMhIS@HLD

D) Gaud e agioyfleme

are able to work out rectangular Co — ordinates for G.T Stations.

(A) Latitude and Longitude (B) Polar line
(C) The azimuth (D) Latitude only
G.T evCLeaisE ——— QemGaran GCar-<y g Car’ Caamail i ng.
Q)  <iILeCrens (L) Sids Greneu B)  smusGar®
©)  @fwu Cameam GCar( D)  <iLsCrens LLHLD
23 094/DM/18
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79.  The formulae of angles of the filed station
(A) (2n—6) x 180° = Total no. of angular angles
(B) (2n—4) x 90° = Total no. of angular angles
(C) (2n—5) x 45° = Total no. of angular angles
(D) (2n - 8) x 360° = Total no. of angular angles
Camramr jereneluiled CHTEmTRISGET DenD&E 2 6Ter alld)
A)  (2n-6) x 180° = Quwrss Camewhiser
B)  (2n—4) x 90° = Qwrss Caramrmisar
(C)  (2n-5) x 45° = Quorés Caramiisar
(D)  (2n - 8) x 360° = Quwrss CamewThisET

80. — 1is used to find out distance between the two Theodolite stations, where is the

ground is broken and could not measured directly.

(A)  Circumstances

(B)  Everest Pattern Theodolite

(C)  Substance Bar

(D)  Transist Theodolite

Hogdled, Yemeyul L HmD eTéEs (pipwins @rer(h Suri el Bleaeownis @ Qe uleiarer
SITEMS S|eT&HS 2 Fa|b sHmaedluflen GlLwm

(A)  smsDEVLGTENED

B)  erau@revl wrHM Hwm_enavl

(C)  slevemev LimT

D)  grmeandlev Hwum_amel

81. High tide and low tide is measured to measure the boundary of
(A) River (B) Sea
(C) Kanmoi (D) Channel

eanl L L Hnid GoorenL L eTerLg)
@A) 2m B) s

(C)  sewromesnT D) smoeumi
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No appeal shall be admitted after the issue of the notification in section —— of
Tamilnadu Survey and Boundries Act.

A) 9 (B) 10(2)

©C) 12 (D) 13

sOPBTH Hoarme eome FlLer Fp ———— Oadager yMediy Qeuaflumer Ger
Cuoapennuilh @eama.

A) 9 (B) 10(2)

C) 12 (D) 13

During change of classification in maintenance work, a new sub-division should be denoted
in continuation with

(A)  Any sub division No.

(B)  Second sub division No.

(C)  Any survey No.

(D)  Next to last sub division No.

syorHn o L Gfleler Cumg LeoluL misetled 2 1 19M ey erewranmmenng) ——————— erenm ULPHBISLILI(HILD.
(A)  ggreug o 19ay eramr

B) @nrerLmeug 2 1 9fey eremr

(C)  gsmeugl Ue era

D)  soLfl Yo 2 196 cramramis@ i(H5s 2L 19 fe erevr

The GPS system comprises of 3 major segments such as
(A) Latitude and Longitude

(B)  Control, space and user segments

(C)  Polar line, Azimuth, East and west fork

(D)  None of these

GPS AevLgdled 3 wpsHlw uGdsarmeng)

A)  =sCras wHmib Siés Cras

B)  sam Cyre, dvGue whmib Wt LEHse

©)  smuECSTH, GAuCsTar Can, e whmib CoHe
D) @de ggisleena
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85. In Panchayat ————— is responsible for maintenance of survey.
(A)  Firka Surveyor
(B) Town Surveyor
(C) Revenue Inspector
(D) Panchayat Sub-Inspector of Surveyor
uEpETWSG Lpmoiliy uenflé@ Cummilitimereur
A)  odmal L S@ielei
B)  par QeI
(C)  eumeumi yicumeri

D)  uEpETWGF FTT S IeuTETT

86. Which grid system is currently used in Tamilandu?

A WGS 60 B) WGS 72
(€ WGS 80 (D) WGS 84
snCurgl sIEHBT g Lweru(HSsumHD Grid system eranLig)

A WGS 60 B) WGS 72
(€ WGS 80 (D) WGS 84

87. Simplify (by log) 0.886455

(A) 0.84257451 (B) 0.94151751

(C) 0.85697421 (D) 0.87542681

FH&GS (s epeod) 0.886455

(A)  0.84257451 (B) 0.94151751

(C) 0.85697421 (D) 0.87542681
88. The permanent Details in the field map are used

(A)  To prove the land owner’s right

(B)  To identify the field

(C)  To collect land revenue

(D) To mapping the survey field

HooliuLgdled srlLiul (Herer Blirhsr edlersdlsermeng)
A)  Hle 2 Lawwrerfer 2 Mapwanw Hlenamm L
B)  Hesms e wimerd sl

C)  Heeuf cugadlss

D) yeoluL b euemyeusnE
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89.

90.

91.

Land assignment is maintained in taluk office in the Register of

(A)  Taluk Register 8A

(B) Taluk Register 4

(C) Taluk Register 5

(D)  None of these

o @uueL UL Qermkser Ghsgl el L Salela&sdd ——— udCaillige upmoflssiu@dng.
A) el sansE uHCea 8A

B) el sawsE LG 4

©) el sawsE udHCeau(® b

D) Qe ggilven®

Tamilnadu Survey and Boundaries Act VIII of 1923 delegate the powers to take decision
under section 9(1) to

(A)  Assistant Director of Survey

(B)  Inspector of Survey

(C)  Sub Inspector of Survey

(D)  Deputy Inspector of Survey

SWOIPBTH  Hleooetenes WHMID eTemesar @GHsg 1923-b eumLsSHw sy 9fle; 9(1)e
W4 CeuHEE@GHD ASETIUPETET De)IEU6DT

A) 2z QusEHT

B)  yweumert

(C)  swent Yy uieumen

D) gt <y weumart

When the surveyor’s work comes under bad work during Field Inspection?
(A)  Error comes more than 5

(B)  Error comes more than 10

(C)  Error comes more than 11

(D)  Error comes more than 15

Bl ojereuflen Leoliuamfl geanflsensuler Curgy ————Corgorer Yeoliuamfl erer  (plge]
Qeuwutiu@éng.

A) 5 YepsEnsE G eumbGurg)

B) 10 YenpsEndHE; Cue aumbCumg

(C) 11 YerpaEns@ Cwd eumbCurg

(D) 15 YenpaEns@ Cod eumbCurg
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92.

93.

94.

The use of cross staff is

(A) lays offset

(B)  to measure straight line

(C)  to measure angles

(D)  all the above are correct

CrirCament &L_enL ——— et (S mg).
&) Gdsare) rGLUSHES

B) CriCsmligemen ojarés

(C) Camemmmiser erliLgsnE

D) smarsgibd &

Village maps are generally plotted to scale of

(A)  1:1000 & 1:2000

(B)  1:5000 & 1:10000

(C)  1:1000 & 1:500

(D)  1:50000 & 1:750000

Sy UL mBIs6T, Hunglelns —————— erenn Sjemelled euan it (hi.
(A)  1:1000 & 1:2000

(B) 1:5000 & 1:10000

(C)  1:1000 & 1:500

(D)  1:50000 & 1:750000

The over draft amount under CSM (A) is sanctioned for

(A) Maintenance of Survey mark in Taluk maintenance work
(B) Meet out expenses in transfer of stones

(C)  Salary for Surveyor

(D)  Salary of Field Assistant

QU Aur geolbear S eupmsiu@d  Wastu@ssiul L Qgrasurag
aupEISILHS D).

A)  ugmoAiy uestluld Hlovsieraneu Eh&er LFTMLiL

B)  snsdrar(DSg1E Fwaid Cewa]sEs,

(C)  Hle jereur sardl CFeaeydss

D) Yo 2 gellwrert sardlw ClFea|sa
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95.

96.

97.

The Town Surveyor should report every cape or encroachment on the Street alignment as

per
(A) Tamilnadu Survey and Boundaries Act 1923

(B) Tamilnadu District Municipalities Act 1920

(C)  Criminal Procedure Code

(D) All above

Qs ephiams WPl psdrbllienu sarPlbse L er —— s LUy DEmE Srésa CFuiw
Couamr(Hid.

A)  sBPETH Hlooerancy eTdenavd FLL1b 1923

B)  siErH wreul L wpeflflumedliiy gL ib 1920

©)  Gopeilued paL(pep

(D)  CuwCeo sem_ jamerss)h

The frame work was framed the rule to maintenance work as per Survey and land Records

Manual Volume No

A Iv B) I

© Vv D) 1

urrofliler ueaelludlenr eum@GIpeDWTaTg Bl eTamel (b) eteeuser asCw( UGS eremm
&7 Ly SeD&SSLILIL (HeTeng).

@) v B) I

© Vv D I

A Surveyor is authorised to remove trees, fences as per the Tamil Nadu Survey and
Boundaries Act 1923 Section

A 9 B) 4
©) 22 (D) 13
Bloerenaiudien Gumg Flev jareur wrmiser, Geuad wHMID LdiTseT Y Hwieipenn BaEEeughsTer &L LD
1923 Qggager —————8&h e cupmsiuBEng.
@A) 9 B) 4
© 22 (D) 13
29 094/DM/18
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98. A sum of money of simple interest amount to Rs. 815 in 3 years and to Rs. 854 in 4 years The

sum 1s
(A) Rs. 650 (B) Rs. 690
© Rs. 698 (D) Rs. 700

3 aupLmisaile geaflouliquiler igedlen grenswimeng . 815 eramab, 4 eu@pLmisafld p. 854 oyemme
DIEFG GTEITET?
A)  em. 650 (B) em. 690

©) @ 698 D) ¢m. 700

99. This register shows all the patta holders of a village in alphabetical?
(A)  A-Register (B) Land Register
(C)  Chitta (D) FMB

@ Syrnsdler Semensg LILLrgryier GLwisEhb &7 euflepgudled Luiiuligmé@n udGa(?

A) o-udGeul B)  HeuudGau®

©) Sflonm D) yeovuL & seug
100. Long narrow field’s length at least —————— in length.

(A 50m (B) 200 m

(C)  300m D) 75m

Bt @mserer HosHna@ swomyms ——— 1 Hombd Couent(HlLbd.

(A 5018 (B) 2008

(C) 3008 D) 758
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